Quiz for Unit 3

Part I Reading comprehension

Directions: There are four passages in this part. Each passage is followed by some questions or unfinished statements. For each of them there are four choices marked A, B, C and D. You should decide on the best choicer.

Questions 1 to 5 are based on the following passage:

  One silly question I simply can’t understand is“ How do you feel?” Usually the question is asked of a man in action a man walking along the street, or busily working at his desk. So what do you expect him to say? He’ll probably say“, Fine, I am all right.” But you’ve put a bug in his ear—maybe now he is not sure. If you are a good friend, you may have seen something in his face, or his walk, that he overlooked that morning. It starts him worrying a little. First thing, you know, he looks in a mirror to see if everything is all right, while you go merrily on your way asking someone else“, How do you feel?”
  Every question has its time and place. It’s perfectly acceptable, for instance, to ask, “ How do you feel?” if you are visiting a very close friend in the hospital. But if the fellow is walking on both legs, hurrying to catch a train, or sitting at his desk working, it’s not time to ask him that silly question.

  When George Bernard Shaw, the famous writer of plays was in his eighties, someone asked him“ How do you feel” Shaw put him in his place, “When you reach my age,” he said, “either you feel all right or you are dead.”

1. According to the writer, the greeting “ How do you feel?” __________.

A. usually makes one feel uneasy. B. is a good way to make friends

C. is proper to ask a man in action D. shows one’s consideration for other people

2. “You’ve put a bug in his ear ” means that you’ve __________.

A. hurt him B. embarrassed him

C. given him some kind of warning D. shown concern for him.

3. The question “How do you feel?” seems to be suitable when asked of __________.

A. a man walking in the street B. a friend who has fallen ill

C. a person having lost a close friend D. a stranger who looks worried

4. George Bernard Shaw’s reply to this question shows __________.

A. he is cheerful B. he is humorous

C. he is capable D. he is polite

5. This passage can be entitled __________.

A. A Good Greeting B. George Bernard Shaw’s Opinion.

C. Don’t Bother a Busy Man D. A Misplace Question

Questions 6 to 10 are based on the following passage:

   The sense of sound is one of our most important means of knowing what is going on around us. Sound has a wasted product, too, in the form of noise. Noise has been called unwanted sound. Noise is growing and it may get much worse before it gets any better.

  Scientists, for several years, have been studying how noise affects people and animals. They are surprised by what they have learned. Peace and quiet is becoming harder to find. Noise pollution is a threat that should be looked at carefully. There is saying about it“, being so noisy that you can’t hear yourself think.” Doctors who study noise believe that we must sometimes hear ourselves think. If we don’t, we may have headaches, other aches and pains, or even worse mental problems.

   Noise adds more tension (紧张) to a society that already faces enough stress. But noise is not a new problem. In ancient Rome, people complained so much about noise that the government stopped chariots ( 轻便四轮马车) from moving through the streets at night.

   Ways of making less noise are now being tested. There are even laws controlling noise. We can’t return to the“ good old days” of peace and quiet. But we can reduce noise - if we shout loudly enough about it.

6. Why are scientists surprised by the findings in their noise study?

A. Because the world is becoming more and more noisy.

B. Because they have learned that noise is also a kind of pollution.

C. Because noise is an unwanted waste for human beings

D. Because people knew little about the danger of noise before.

7. What may be the result if we cannot hear ourselves think?

A. We may forget what we have thought about.

B. Our thoughts may be interfered.

C. our mind may be harmed.

D. We may have difficulty using the right word.

8. When the writer says we cannot return to the “good old days”, he means that __________.

A. our society is becoming much worse than before.

B. in our modern society it is hard to lead a quiet life.

C. the old days is much happier than the present time.

D. it is impossible for us to deal with noise as we did before.

9. From the last sentence of the passage we can learn that __________.

A. we can put noise under control if our measures are effective.

B. sometimes we have to shout loudly so that others can hear us.

C. shouting is a chief cause of noise pollution.

D. it is important to warn people of the danger of noise pollution.

10. Which of the following is TRUE according to the passage?

A. Only recently did people realize the harmfulness of noise.

B. Noise pollution is the worst kind of pollution we suffer from.

C. People are now trying to find ways to make noise as low as possible.

D. The writer thinks that it is almost impossible for people to avoid noise.

Questions 11 to 15 are based on the following passage:

   Trees have a spectacular survival record. Over a period of more than 400 million years, they have evolved as the tallest, most massive, and longest-lived organisms ever to inhabit the Earth. Yet trees lack a means of defense that almost every animal has: trees cannot move away from destructive forces. Because they cannot move, all types of living and nonliving enemies—fire, storms, microorganisms, insects, other animals and, later, humans—have wounded them throughout their history. Trees have survived because their evolution has made them into highly compartmented organisms; that is, they wall off injured and infected wood.

  In that respect trees are radically different from animals. Fundamentally, animals heal: they preserve their life by making billions of repairs, installing new cells in the positions of old ones. Trees cannot heal: they make no repairs. Instead, they defend themselves from the consequences of injury and infection by walling off the damage. At the same time they put new cells in new position; in effect, they grow a new tree over the old one every year. The most obvious results of the processare growth rings, which are visible on the cross section of a trunk, a root, or a branch.

11. The author’s main purpose in this article is to explain __________.

A. the life cycle of a tree B. the way trees survive

C. the importance of trees to human progress D. the dangers trees face from natural disasters

12. The author describes trees as all of the following EXCEPT __________.

A. tall B. green C. massive D. long-lived

13. The author implies that almost every animal is able to protect itself from destructive forces by doing which of the following?

A. Moving away B. Calling for help

C. Climbing up a tree D. Remaining with its group

14. In line 6, the word “they” refers to __________.

A. enemies B. animals C. humans D. trees

15. The growth rings appear on the cross section of a trunk because __________.

A. new trees are grown every year.

B. trees put new cells in new positions

C. trees defend themselves by walling off the injured and infected wood

D. trees install new cells in the positions of old ones

Questions 16 to 20 are based on the following passage:

   Manufacturers have discovered by trial and error that sugar sells badly in green wrappings, that blue foods are considered unpleasant, and the cosmetics should never be packaged in brown. These discoveries have grown into a whole discipline of colour psychology that now finds application in everything from fashion to interior decoration. Some of our preferences are clearly psychological. Dark blue is the colour of the night sky and therefore associated with passivity and calm, while yellow is a day colour with associations of energy and incentive. For primitive man, activity during the day meant hunting and attacking, while he soon saw as red, the colour of blood and rage and the heat that came with effort. And green is associated with passive defence and self-preservation. Experiments have shown that colours, partly because of their physiological associations, also have a direct psychological effect. People exposed to bright red show an increase in heartbeat, and blood pressure. Red is exciting. Similar exposure to pure blue has exactly the opposite effect. It is a calming colour. Because of its exciting connotations, red was chosen as the signal for danger, but closer analysis shows that a vividyellow can produce a more basic state of alertness and alarm, so fire engines and ambulances in some advanced communities

are now rushing around in bright yellow colours that stop the traffic dead.

16. Manufactures found out that colour affects sales __________.

A. by experience over a long period of time.

B. by experimenting with different colours

C. by trying out colour on blind people

D. by developing the discipline of colour psychology

17. Our preferences for certain colours are __________.

A. associated with the time of day.

B. dependent on our character

C. linked with our primitive ancestors

D. partly due to psychological factors

18. If people are exposed to bright red, which of the following things does NOT happen?

A. They breathe faster

B. They feel afraidC. Their blood pressure rises

D. Their hearts beat faster

19. Which of the following statements is NOT true according to the passage?

A. Colour probably has an effect on us which we are not conscious of.

B. Yellow fire engines have caused many bad accidents in some advanced communities.

C. People exposed to pure blue start to breathe more slowly.

D. The psychology of colour is of some practical use.

20. Which of the following could be the most suitable title?

A. The Discipline of Colour Psychology

B. Colour and Its Connotation

C. The Practical Use of Colour

D. Colour and Feelings 

Part II Vocabulary and structure

Directions: There are 30 incomplete sentences in this part. For each sentence there are four choices marked A, B, C and D You should decide on the best choicer.

21. since the mid-1970s, medicine has ________ a few new treatment triumphs in the war against cancer.

A. seeded B. shot C. sounded D. scored

22. If you rub certain things together, their surfaces become ________ static electricity.

A. caught up with B. charged with C. kept up with D. put up with

23. On the steps of one building, a group of engineering seniors huddled, discussing the exam ________ begin in a few minutes.

A. due on B. due to C. due in D. due

24. The years have ________ the name of this professor, but not the lesson she taught.

A. secure B. secured C. obscure D. obscured

25. The typical classroom ________ the place where teachers and students were working together.

A. is used to be B. is use to be C. used to be D. used to

26. The hot water in our hotel is ________ 24 hours a day.

A. acquire B. get C. available D. obtain

27. Within 2 weeks of arrival all foreigners should ________ with the local police.

A. locate B. register C. restrict D. explore

28. ________ taking care of her son, she has taken 3 online courses.

A. In addition to B. In addition C. Since D. Because

29. In parts of Asia, you must not sit with your feet ________ to another person.

A. pointing B. pointed C. being pointed C. to be pointed

30. Like most animals, hens will work hard for ________ to food.

A. way B. subject C. intension D. access

31. I have had ________ many falls that I am black and blue all over.

A. such B. so C. such a D. so a

32. The degree _________ which people get involved in societies varies a great deal.

A. at B. on C. with D. to

33. Some totally ________ themselves in a club, hardly speaking to anyone who isn’t a member of that group for the next three years.

A. dip B. immerse C. sink D. put

34. Scientific discoveries are often ________ to industrial processes.

 A. secured B. avoided C. applied D. tended

35. This system is extremely ________ because it runs on half- price electricity.

A. economical B. economy C. economic D. economically

36. Twenty miles ________ like a long walk to people who have never been to the countryside.

A. seem B. seems C. to seem D. seeming

37. All the students in the class except Zhou Li ________ passed the final examination.

A. has B. have C. has been D. have been

38. They ________ their children the virtue of always telling the truth.

A. impressed upon B. filed into C. consisted of D. subscribed to

39. ________ nobody is against it, we will adopt the proposal.

A. In addition to B. At the idea of C. Now that D. Somehow

40. This balloon remained in flight for 50 minutes _________.

A. or so B. and so C. but so D. not so

41. _________ breaks the law will be punished sooner or later.

A. Who B. Whoever C. Anyone D. Someone

42. Not once ________ his view of life.

A. did he mention B. he mentioned that C. he mentioned D. would he mention

43. In order to ________ a new situation we must adapt ourselves

A. take advantage of B. become accustomed to C. keep accompany with D. get the best of

44. Three new buildings ________ on the campus by the end of this year.

A. will be built B. will have been built C. are going to be built D. have been built

45. This is the microscope ________ which we have had so much trouble.

A. at B. from C. of D. with

46. More than one government official ________ involved in the case.

A. were B. was C. being D. be

47. The last man ________ the sinking ship was the captain.

A. left B. 0 to leave C. having left D. being left

48. We believe scientists will ________ a way to solve the problem of air pollution.

A. set off B. put off C. come up with D. catch up with

49. They didn’t prepare the speech contest like that, but it ________ very well.

A. kept out B. gave out C. left out D. worked out

50. Usually, he will ________, but this time he put his foot down.

A. allow B. annoy C. argue D. Agree

Part III Cloze

Directions: There are 20 blanks in the following passage. For each blank there are four choices marked A, B, C and D below the passage. You should choose the ONE that fits into the passage.

   Violent thunderstorms are impressive 51 52 they occur. There are, 53 , certain characteristic of

thunderstorms in the Great Plains region of the United States which 54 an effect 55 extraordinarily 56 57 by such storms in cities or hill countries.

   The first difference is that a storm can be seen 58 from miles away. This approach gives the spectator an unusual 59 and allows him to see the complete storm 60 it were a moving entity 61 defined borders. Even before the storm comes into 62 however, its approach can be both 63 as rolling thunder and 64 as a sharp temperature drop.

   As the storm advances, like 65 unstoppable giant, it 66 the daylight and thus 67 the effect of theflashes of lightning with their almost simultaneous accompanying peals of 68 thunder.

   The final difference is the commonness with which hail is a feature of Great Plains thunderstorms. This hail is not just common or garden hail with pea-sized hailstones. Indeed, Spaniards in the sixteenth century 69 hail the size of bowls, and Plains Indians also reported hail of extraordinary 70 . Doubtless, the size lost nothing in the telling, but , even today, the hailstones in Great Plains thunderstorms are often described as being the size of large marbles or golfballs.

51. A. phenomenon B. phenomena C. phenomenons D. phenomenae

52. A. wherever B. whenever C. whatever D. however

53. A. yet B. but C. whatever D. however

54. A. result from B. result in C. results from D. results in

55. A. that is B. which is C. is D. which is

56. A. the same as B. same as C. different from D. different with

57. A. that caused B. which caused C. which causes D. that is caused

58. A. approach B. approached C. approaching D. having approached

59. A. prospect B. perspective C. perceptive D. perception

60. A. as B. as if C. like D. if

61. A. with B. has C. of D. in

62. A. the sight B. eyes C. the scene D. sight

63. A. heard of B. heard C. seen D. looked at

64. A. sensed B. felt C. realized D. recognized

65. A. a B. the C. some D. certain

66. A. puts out B. erases C. extinguishes D. blacks out

67. A. heightens B. weakens C. deepens D. emphasizes

68. A. deaf B. deafened C. deafening D. deafing

69. A. spoke B. said C. spoke of D. talked

70. A. dimensions B. dimension C. shape D. Form

Part IV Writing

Writing: For this part, you are allowed thirty minutes to write a composition on the topic How to Make Good Friends. You should write at least 120 words, and base your composition on the outline ( given in Chinese) below:

1. 有的同学喜欢广交朋友
2. 有的同学喜欢有选择性地交朋友
3. 我的做法
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Part IV Writing

How to Make Good Friends

   We all need friends. But how do we make friends? Different people have different ways of making friends. Some like making friends extensively. They believe that he, who has a thousand friends, will have a thousand roads that may make life easier. So they try to make friends whenever they can and wherever they go. Others think that not all who they meet can become their friends. Good friends are those who share the same ideas and hobbies with them. They make friends very carefully and seldom consider others their good friends.

   In my opinion, nobody can make everyone his friend. I like to make friends of different characters and with different experiences. He is lucky who has a friend to help him when he is in trouble; it is also a pleasure to exchange views and feelingsfrankly with one’s friends. Of course, making good friends requires a lot of knowledge.
